
Answer on Question  #84100, Physics / Electromagnetism 

 

Question:  

 

A plane 1Ghz wave travelling in the air with peak E field of 1v/m is incident normally on a large 

copper sheet. Find the average power absorbed by the sheet per meter square of the area 

 

Solution:   

 

For the copper sheet and such a frequency wave energy losses during reflection equal to app. 1.2*10-

4 of wave energy (in accordance with Hagen-Rubens formula), i.e.  
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The answer: 

 

Average power absorbed by the sheet per meter square of the area 
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